
SERVICE PARTS LIST 

9” SANDER - 6000 R.P.M. 

BULLETIN NO. 
54-38-0340 

REVISED BULLETIN DATE 

Sept.‘87 

WIRING INSTRUCTION 

CATALOG NO. 6096 STARTING 
] SERIAL NO. 717-1001 58-01-0901 I 

DESCRIPTION OF PART NO. RED, 

Spindle Washer - Rubber 
Wesher Flange 11; 
Spindle Shaft (1) 
lw4 x l/Z’ Pen Hd. forx fslottte sorew 141 
Layer Gear Case iii 
:A;; Blue .m Thick (S@ Noto 

11; 
Felt Seal 
Ball Bearing 11; 
Retainina Rina - Internal (1) 
Soccer - ” 
Sbiral Bevel Gear 
Spindle Locking Cog (Dimple Side to Fig. 12) 
Needle Beering 
Side Handle 
l/4 - 28 Locking Hex Nut K&e Note) 
Scirel Bevel Pinion 
&per Gear Case ili 
l/4-20 x l-114 Pan Hd. Torx Taptite Screw 
Flat Washer 

1:; 

;p;in; Lock Assembly 
III 

Ball B&n 
., 

032 x . 328 Pan Hd. Torx Taotite Screw I:! 
Baffle 
10-32 Locking Hex Nut 
120 Volt Field 
120 Volt Armature (Incl. 22-84-O&X Fan) 
Ball Bearing 
Shoulder Screw 
Tool Rest 
Insulating Sleeve 
Coil Shield 
Motor Housing (Incl. 4530-0120 Slugl) 
Nameplate Screw 

FIB. PART NO. DESCRIPTION OF PART NO. REQ. 

224wal 

Nameplate Blank 
8-32 x 3/B” Oval Hd. Taptite Screw 
Cover Plate 
Instruction Plate 
Cord Set 
Brush Holder Aesy. (Coarse Thread) Includes 
Z&20-03W Brush Tube 8 23-44-0170 Brush 

Rnl* Hold*r A=. (Previous Fine Thread 
J Brush Tube 

mbly 
D - Coarse Thread 

_ . __ . . . _. __. , _, 
Assy.) Incl. 22-20-036l 
Carbon Brush Ause 
Brush Retaining Cal 
Brush Retaining Cap - Fine Thread 
8-32 x 3/v,pan Hd. Screw 
y&xX5(*n cl,,+ Hex Hd. Screw 

10-a. .:_ 
Ri ht Handle Ha 
8-f6 x l/z’ Pal 

.- 1.v. 

. . . .-3/8” Pan Hd. Torx Taptite Screw 
5 x 7/g Pen Hd. Torx Screw 

Ilf 
7 Hd. Torx Plaetite Screw 

Switch -- -- 
Switch Lockwasher - No. 6 Internal Tooth 
Left Handle Half 
10-24 Hex Nut 
10-32 x 3” Flat Fil. Hd. Screw 
Insulating Bushing 
Insulating Spacer (See Insert) 
Power Module - Assembly 
Contml Module Assembly 
Duet Seal 
No. 10 Split;;fEpkwasher 

Fig. No. 6 - As Required (Max. .016”) 

LUBRICATION 
l-1/2 oz. - Type “G” Grease 

MILWAUKEE ELECTRIC TOOL CORPORATION 

13135 W. LISBON RD., BROOKFIELD, WI-S. 53005 


